ESOOO STANDARD
Tuned Propulsion System

ZhREMNNRSE

User Manual
=I=ES

2016.12

[4)]]



Disclaimer

Thank you for purchasing the E5000 Standard Tuned Propulsion
System (hereinafter referred to as “product”). Read this
disclaimer carefully before using this product. By using this
product, you hereby agree to this disclaimer and signify that
you have read it fully. Please install and use this product in
strict accordance with the User Manual. SZ DJI TECHNOLOGY
CO., LTD. and its affiliated companies assume no liability for
damage(s) or injuries incurred directly or indirectly from using,
installing or refitting this product improperly, including but not
limited to using non-designated accessories.

DJI™is a trademark of SZ DJI TECHNOLOGY CO., LTD. (abbreviated
as “DJI") and its affiliated companies. Names of products, brands,
etc., appearing in this manual are trademarks or registered
trademarks of their respective owner companies. This product and
manual are copyrighted by DJI with all rights reserved. No part of this
product or manual shall be reproduced in any form without the prior
written consent of or authorization from DJI.

This disclaimer is produced in various languages. In the event of
variance among different versions, the Chinese version shall prevail
when the product in question is purchased in China, and the English
version shall prevail when the product in question is purchased in
any other region.

Legend

A Important

Warning

& When powered on, the motors and propellers will rotate
very quickly and can cause serious damage or injuries
if used improperly. Always maintain caution and make

safety your top priority.

@ The E5000 Standard generates powerful thrust. Be
sure to operate it with caution to avoid potential safety
risks. DO NOT use the E5000 Standard if you are not an
experienced user or you are under the age of 18.

N3



N3

. The maximum allowable voltage of the E5000 Standard is
52.2 V. Operate with care.

Always fly your aircraft in areas free of people, animals,
power lines, and other obstacles.

. DO NOT approach or touch the motors or propellers when
the unit is powered on.

Before takeoff, ensure that the propellers and motors are
installed correctly and the propellers are unfolded.

. Ensure that all parts of the aircraft are in good condition. DO NOT
fly with worn or damaged parts.

Ensure that all parts are firmly in place and all screws are
tight before each flight.

. Only use compatible, authorized DJI parts.

N

w

&

o

o

~

Introduction

The E5000 Standard Tuned Propulsion System is designed for
multirotor aircraft with a payload of 4.5 - 7.0 kg/rotor. Water-
proof and dust-proof features (the 1280S ESC is IP66 rated and
IEC 60529 compliant) allow the system to be washed, making it
ideal for industrial applications and professional photography in
demanding environments.

The brand new M10 motor features an integrated centrifugal
cooling system and annular array of cooling fins to enhance
heat dissipation. A lighter M10 Air motor is also designed for
selection. Reinforced blades and a perfected aerodynamic
design minimize rotational inertia on the foldable 28-inch Z-Blade
propellers to equip large platforms with sharp response.

The 1280S ESC uses FOC (Field-Oriented Control) algorithms
to allow for more motor responsiveness and precision control.
Additional protection functions extend the life of the ESC. When
used with the DJI N3 or A3 flight controllers, the ESC data cable
handles communication with the flight controller and also acts
as a backup throttle signal transmission cable for increased
reliability and a safer flight.

1. Parts
Foldable Propellers (CW or CCW, accessories included), Motor

(accessories included), ESC and other items can be purchased
separately on the DJI Online Store.

4 © 2016 DJI All Rights




M10 Motor M10 Air Motor

2880 Foldable Propeller 2880 Foldable Propeller
(Clockwise) (Counterclockwise)

ﬁ it Motor Accessories:
Motor Screws (M4x16 Hex Socket)
Propeller Adapter Screws
(M3x11 Hex Cap)

§ Propeller Accessories:

Smart ESC Communication Cable Propeller Adapter Screws
(M3x11 Hex Cap)

2. Flight Controller Settings

The E5000 ESC features a DJI optimized FOC algorithm to
offer improved performance during rotor acceleration and
deceleration. The gain values and power bandwidth must be
adjusted according to your flight control system and airframe
The table below shows typical parameters when using the E5000
Standard with a DJI A3 flight control system, a six-rotor frame
with a diagonal distance of 1600 mm, and at a takeoff weight of
35 kg:

© 2016 DJI All Rigl

N3



N3

Basic Gain Sensitivity Gain
Pitch | Roll | Yaw |Throtile | Brake [Atitude
110% | 110% | 100% | 100% 50% ‘100% 80%

Power Bandwidth

3. Connecting the ESCs

Tools Required: Power distribution board (PDB)*, electric

soldering iron and soldering tin

* Use a PDB which has sufficient trace spacing and current capacity,
according to the number of ESCs and the battery voltage.

1) Solder the ESC's black GND cable and red VCC cable to the pads
on the PDB. Ensure that there are no open circuits or short circuits.

2) Connect the signal cable to your flight controller. The signal
cable’s red wire transmits the control signal; the black wire is
for GND.

3) When using the ESC together with the DJI N3 or A3 flight
controller, connect the data cable to the iESC port on the flight
controller via the smart ESC communication cable for real-
time communication with the flight controller and redundant
throttle signal transmission. Arrange the cable properly if not
used, so that it will not interfere with other on-board devices.

4) Connect the motor to the ESC. Test the motors and ensure that
the rotation direction of each motor is correct. You can reverse the
rotation direction by swapping the positions of any two cables.

5) Mount the ESC at a well-ventilated place with the ESC Status
Indicator clearly visible. Placement under the frame arm is
recommended. DO NOT cover the cooling fins on the top of
the ESC to avoid overheating.

.l

|

ESC Status Indic Thre

Motor C:

4. Mounting the Motors
The dimensions and thread sizes of the motor are illustrated

below. Ensure they are compatible with your frame arm before
mounting the motors.

6 © 2016 DJI All Rights




M10 Motor 8 mm
E
POEEhTDIBE0 £ Iy
ol |3
©
)
@26 mm
@107 mm
4xM3 Thread Depth 6 mm 4xM4 Thread Depth 20 mm

@ 36 mn

M10 Air Motor —
@8 mm

@36 mm @66 mm

© 2016 DJI All Rights Reserved. 7

N3



N3

A * Use a suitable motor mounting plate and airframe that
can withstand the large thrust delivered by the E5000
Propulsion System.

« Choose the appropriate screw length and screw size
according to the depth of the assembly hole and
thickness of the motor mounting plate. Using screws
that are too long or too large may damage the motor.

* When mounting or removing the motors, be careful to
prevent foreign articles from entering the motor.

5. Assembling the Propellers

Threadlocker and a wrench for propeller adapter screws (M3x11

hex cap) are required.

1) Pair the propellers marked CW with the clockwise rotating motors;
pair the propellers marked CCW with the counterclockwise
rotating motors.

2) Apply threadlocker to the four screw holes on the motor.

3) Mount the propeller onto the motor, and use four propeller
adapter screws (M3x11 hex cap) to secure the propeller.

CW or CCW Mark

& « Ensure the screw is secured tightly for the threadlocker
to be effective.
« Ensure the threadlocker is completely dry and solid before
flight to prevent the propeller from flying off the motor.

8

© 2016 DJI All Rights




6. Using DJI Assistant 2

The DJI ASSISTANT™ 2 is used to update the ESC firmware.*
Be sure to remove the propellers before using DJI Assistant 2.

P

1

ESC Updater Computer

Before using the Updater, unplug any other serial devices that are

connected to your computer, then follow the instructions below:

1) Download and install DJI Assistant 2 from the official DJI
website. (http://www.dji.com/e5000/info#downloads)

2) Connect the Updater to the ESC with the data cable and to
your computer with a Micro USB cable.

3) Connect a 12S LiPo battery to the ESC to supply power to
the system. Do not disconnect the ESC from the computer or
power supply until the configuration is complete.

4)Launch DJI Assistant 2. When a connection is established,
the software will display the connected devices.

5) Click under “Connected Devices” to enter the firmware
update page. Check the current firmware version and ensure
the installed firmware is up to date. If not, login with your DJI
account and click the Upgrade button.

A If your ESC is not recognized by DJI Assistant 2 (no
connected devices):

 Check if there is more than one FTDI device connected
such as another DJI Updater, an FTDI USB adapter or
development board (e.g. a BeagleBone, Raspberry or
Arduino board). Unplug the other FTDI devices, restart
the ESC and DJI Assistant 2, and try again.

* Re-connect the ESC and the power supply in the
following order: Connect the ESC to your computer,
connect the power supply to the ESC, and then launch
DJI Assistant 2.

3% When using the ESC together with the DJI N3 or A3 flight
controller, connect the data cable to the iESC port on the
flight controller via the smart ESC communication cable to
update all the connected ESCs' firmware together in the
flight controller page of DJI Assistant 2: Connect the flight
controller to DJI Assistant 2 -> N3 or A3 icon -> Firmware
Update -> ESC Firmware List.

© 2016 DJI All Rig

N3



7. ESC Status Description

The 1280S smart ESC's protection and alarm functions prevent damage and extend its lifespan. ESCs status is displayed by the ESC Status
Indicator and notification sounds.

N3

Status LED Sound ESC Output | Cause Resolution
@ Slow Pulsing Green | 1356 Normal System Ready /
Normal Operation (G Solid Green / Normal Motor Started /
¥ Solid Yellow / Normal Motors are rotating at full throttle. /
Open-circut Protestion Motor phase break or abnormal connection
P REVEHG with the ESC when powered on.
Blinking Red, Yellow / Stop Motor cable short-circuiting, ESC output Fix problem then restart ESC.
Short-circuit Protection and Green short-circuiting, or short-circuit inside the
ESC
Stall Protection () Blinking Red Rapidly / Stop Motor Stalled Fix problem then restart ESC
Overheated Protection () Blinks Red Twice / Normal ESC internal temperature > 100°C ESC internal temperature < 80°C.
Main throttle signal lost during flight, i.e The aircraft can fly with the backup
Throttle Backup® ¥’ Blinking Yellow / Normal the ESC signal cable is disconnected throttle. However, it is recommended
P Slowly The system will switch to backup throttle to land the aircraft and re-connect the
automatically. signal cable as soon as possible.
1. Both the main throttle and backup throttle
signal were lost during flight, i.e. the 1. Land the aircraft immediately and re-
¥ Blinking Yellow Slow Bee Stol ESC signal cable and data cable are connect the cables.
Slowly P P disconnected. 2. The system will not switch to backup
Abnormal Throttle Warning 2. Main throttle signal lost before the motor throttle. Re-connect the signal cable.
started
;ég‘(‘ﬂ”yk‘”g Yellow | gingle Beep | Stop Starting input signal is not at the minimum. | Throttle input is smaller than 1120 ps.
Starting input voltage is out of the range of
Abnormal Voltage Warning L Double Beep | Stop the 12S LiPo battery, i.e. input voltage > Adijust input voltage.
% Blinking Red and 52.2 V or input voltage < 43.2 V.
Yellow Alternately
Low Voltage Warning / Normal Input v‘o\lage ower than 42 V when Voltage higher than 43.2 V.
operating.

* DJI N3 or A3 flight controller required

N3



N3

8. Specifications

Max Thrust
Recommended Battery

Recommended Takeoff
Weight

Operating Temperature
ESC
Max Allowable Voltage

Max Allowable Current
(Continuous)

Max Peak Current (< 3 sec)
PWM Input Signal Level
Operating Pulse Width
Signal Frequency

Battery

Dimensions

Cable Length

Weight (With Cables)
Motor

Stator Size

KV

Weight

Propeller
DiameterxThread Pitch
Weight (Single Propeller)

14 kg/rotor (44.4 V, Sea Level)
12S LiPo
4.5 - 7.0 kg/rotor (Sea Level)

14°10 122° F (-10° to 50° C)

522V
80 A

120 A

3.3V /5V Compatible
1120 to 1920 ps

30 Hz to 500 Hz

12S LiPo

86 mm x 46 mm x 21 mm

Power cables: 720 mm
Three-phase motor cables: 150 mm
Signal cable & data cable: 900 mm

189 g

100x10 mm
120 rpm/V
M10: 520 g, M10 Air: 420 g

28x8in (711x203 mm)
161g

9. Performance and Parameters

Use the data below to facilitate the proper use of the propulsion

system.

& « Use the system at the recommended takeoff weight for

optimal performance.

« DO NOT overload the system. A takeoff weight more
than 1.2 times of the maximum recommended value will
severely compromise safety and performance.

12 © 2016 DJI All Rights R



E5000 Propulsion System Performance

Power Loading (g/W)
20

18

0 2 4 6 8 10 12 14 16

Thrust (kg/rotor)
The data above was measured with an input voltage of 44.4 V, at a temperature
of 25°C and sea level. The thrust was adjusted by the throttle.

Max Thrust (kg/rotor)
15

0 40 a2 44 6 8 50 52 54
Input Voltage (V)
The data above was measured at full throttle, at a temperature of 25°C and sea level.

1(A) P(W) n(%) T (kglrotor)
70 3500 100 16
%0
60 3000 14
80 »
50 2500 79
10
40 2000 0
50 8
30 1500
40 s
30
20 1000 B
20
10 500
10 2
= 4 0 0
0 1000 1500 2000 2500 3000 3500 4000 4500

N (rpm)

| — Current, P — Input Power, n — Electrical Efficiency, T — Thrust,
N - Rotational Speed

The data above was measured with an input voltage of 44.4 V, at a temperature of
25°C and sea level. The rotational speed was adjusted by the throttle.

© 2016 DJI All Rights Reserved. 13

N3



N3

M10/M10 Air Motor Performance

Performance Diagram

n (%) 1(A) PW) T(N'-m)
100 500 3000 35
90 1 450
30
80 400 2500
25
70 350 H000
60 300 20
50 250 1500
40 200 5
30 150 1000 10
20 100 550 .
10 |/ 50
- 0 0 0
0 1000 2000 3000 4000 5000 6000

N (rpm)

n - Efficiency, | - Current, P — Output Power, T - Torque,

N - Rotational Speed

The data above contain theoretical values measured with an input voltage of
44.4 V, for reference only. When operating at a temperature of 25°C with no
additional cooling devices, the motor cannot operate with a current more than
70 A. It can support short term operation (about 10 to 30 sec) with a current
between 40 A and 70 A, and continuous operation with a current under 40 A.
The motor run time should depend on the actual environmental temperature and
cooling conditions.

Characteristic Parameters

Speed Constant 120 rom/V
Mechanical Time Constant 288 ms

Motor Rotor Inertia mg:Air: ggg tgzgz
Total Rotor Inertia M10: 3408 kg-mm’
(Propeller Included) M10 Air: 3314 kg-mm®
Torque Constant* 0.0790 N-m/A
Line-to-Line Inductance** 41-50 uH
Line-to-Line Resistance 60 mQ

Thermal Time Constant 600's

* The Back-Electromotive Force Constant and Torque Constant may vary
when the motor current is strong. The values provided mainly apply to when
the motor current is under 20 A

** The Line-to-Line Inductance was measured with a current frequency of 1 kHz
in an RLC circuit. It varies periodically as a function of the rotor position

14 © 2016 DJI All Rights

served



10. FAQ

How do | replace the propeller blades or propeller adapters if
they are damaged?

1) Prepare two propeller blade screws (M6x22 hex cap),
four propeller adapter screws (M3x11 hex cap), and four
propeller washers.

2) Apply threadlocker to the screw holes on the motor and the
propeller adapter.

3) Assemble the propeller and tighten with two propeller
blade screws (M6x22 hex cap) so that the blades can fold
smoothly. Mount the propeller onto the motor and use four
propeller adapter screws (M3x11 hex cap) to secure the
propeller.

Propeller Adapter Screws

Propeller Bla (M3x11 Hex Cap)

Propeller Washers

& « Ensure the screw is secured tightly for the threadlocker
to be effective.
* Ensure the threadlocker is completely dry and solid
before flight to prevent the propeller from flying off the
motor.

This content is subject to change.

Download the latest version from
http://www.dji.com/e5000

Copyright © 2016 DJI All Rights Reserved

m
z



HO

el
RS ENDSE E5000 FRfEhR . TEERZAT, BFRIEAER, —
EfEM, EMEARIARBEBABHIARTIES B EETF
RREIERZ =M. EREFSER. 2%, 3ok (SEERIE
DJI FERERISECH, a0 BB, EBiE. MBHERSE ) SRRk,
I AEB AR B IRA B AR A RIS,
DJI™ 2RI AR LB IR A BIRE KR AT NEIR. X
HIMIFRER. 2%, WHEREARNERREMET.
A RREFRARYIBRIBEIEHBIRABRNE . REVF
A, AMELUTURUEHIEED .
AT ARESRANREFBIRFEMENES, TEIUTX
Wi, Bt AT SRR A o

TS ER
A\ EmiEEm

FREREEER

A BEATRY, BEERNIBIERATGES ASUF-IEMN™
EEEMBAR. EWEFERN, BEUEERS.

[‘fsj E5000 HRgERRI DK, ABRBENRENK, S0
EERE. FRUABPRKE 18 SHALEDER.

. E5000 fRERRER A SITEBIESIA 52.2 V, SUBTFHEXZEM

SERHTIRME.

ERMBTBIREEE, WSy, AR SELE.

- PN SRR PRI SRR, B ARSERE P ROSRNE

K.

(ERRIBERIERIB REREER, ITBXRESCRET.

. ERERTBNES TGRS .. WEBGENERRE, 58
AR .

SN

o »

6. R KATAI, 0T CITRBEDEMIRIRLREING
7. T5(EF DIl SRS

16 © 2016 KEEGIZT HRIFAE



(-1

E5000 tRAERR 2 —EREIMEAE, 4.5 - 7.0 kg WBIERNNRZ, &
BT R BREWAIA, £RGANHTFRL (HF 1280S BB
TERHLBIKER I IP66, S8 IEC 60529 i) o M10 FEHIED
FEAXBONLRE, BATONEEEES, 2ERHSH
M, BPIFIEREERAI M0 Arr B4, Z-Blade 28 JiFE
KRB —RBRMAFOSDRT, KIESHEERITMAR
HERRIF REU=H . 1280S FEEBIFRAHEAERIZEH (FOC,
Field-Oriented Control ) &%, SCHUAE/ABIENIBMIRIZE;
EENRIPTNBERIE R (ERE T ; (&8 DJI N3 | A3 KIzR%, 1
BHEIRA AT SIS KRS BE R &M S SHEE .

1. HX¥m

E5000 #RfERAVEBHL (& EeH )  $REER (& CW sk CCW R —
RUAREA) « BIESYRINRIEE, BRITS3IBE,

M10 EB#L M10 Air B34

2880 Al E4ZHER (CW) 2880 AlfrEEREE (CCW)

fr iRiRTE 17

HO



HO

ﬁ' g EBHLA

EEHEIEIRLL
(M4x16, FI~AF)
deseigss (M3x 11, 4hKF

=)

SRHEREA
desei2es (M3x 11, M F)

2. ¥ESHAT

E5000 aDFRFEBIERA DJI LA FOC ik, 12F T InmEtE
A, fEMERT, AP BERBERINRRE ERFELFTR
ESHRMNER. TRIERS A3 CIERFFHMIESH 1600 mm
HO7<HI2RMERD, 2GR 35 kg R —HEARISH:
R REEE | ..
WD [ ma | ma | e | 5% | Ea | e
110% | 110% | 100% | 100% | 50% | 100% | 80%

3. B

TEMME (B&) : D8R BISHKINES
* {RIESEIRE AR E N iR E R RS RS &R RS ERAE
FIISEBIR

1) KBRIFRIREERISBIRE, TRERFEHBEFSLIER.
IR &R VCC, BEHi GND,

2) 15 PWM (BKEEIRH) ) (SSLEREE ©E. HPaeLh
EHIESK, BELIL.

3) &fEM DJI N3 5% A3 Kix RS, BERIBLIRLEIEEEEE
(AR E TR IESC 0, AL WRHILATE
BRI IES RGN . NMERRETRGEIT, BRs
8647

4) BRI =RED BIETBE L. Bt ERIRRERS EIE
o MRA—H, RIBZENEEMIREL .

|
§i —

il
| ?‘H

=tEEML

18 © 2016 KEECIH KRG



5) BREEEEEBNRFEBEBRSIERTHENNE, #EFR
EENBE TS V7EEBEERNORRS, SUESHE
BRESS, #0MTRE.

4. Zixa
SEBIRIBENLEFISTHOHE L.
M10 e

@ 26 mm

@107 mm

@36 mm @66 mm

M10 Air B84l

@26 mm

@107 mm

© 2016 AFECUFT MRALTE 19

HO



HO

@36 mm @66 mm

A\ E5000 ARFRFLNRK, S5 HRIEFIEBAIBHN
Bl EE R | 2RRUSA DR S SEh D R SRR VRS
 EERRGALRITRECRE . REBIRT, BIREIEZ
LREMNSERNBNEEERE, BREENRL,
EFEASRMIRL, 1T NEATAARAENREREN .
o DERIFREBAT, TDDESYHNBIAE.

5. BRIRNER

LEAEAEBRLZIFIE R TRIRL(M3 X 11, Sh75A ATRF.

1) # CW FRICHMEFER XS RIIRAS EHHEEE B, # CCW FRCHIER
TSI ROF RS E AL

2) 1ERBHL LSRR F IR A R FRIR L AR

3) i 4 PURFIRZE (M3 11, HMRF ) REIRNEREB .

g CC!

A\ BRITREBL RGN RESHBRLRELREST
SREM .

20 © 2016 AIECIHT ARALERE



« SUERLR T TIRENWEBIHIT T, SIS
Hak.

6. & DJI Assistant 2

FBFENEIY DJI ASSISTANT™ 2 iBS At TEBEIE TR * %,
JEREZE DJI Assistant 2 5, SWHRBIRIZIEREIRT .

THEm

ERFHRESRT, BRRITEN ENEMEORE, AFRUTE

BRURME:

1) M DJI B Rk FEFHET DJI Assistant 2 L2527 | 128812
TRERIR RS . (http://www.dji.com/e5000/info#downloads)

2) BEFLIRLE N THREE IR, E/ Micro USB 2%k
FHRESITEN .

3) i 128 LiPo Bt ARIAMES, R BT MATSE IR Rk
FhiEsE.

4) =17 DJI Assistant 2, HERERREEERE, FrBES
PAERE EIFREIERBE.

5) mEREERETN 8 HABUHARRE, BEEHFRE.
WRARSS 28 EMBHHEH TEAXMBIARA, HAif DJI tkSakfs
FEAKSER, SEAMAMEEHZRIRREITH .

A\ % DJl Assistant 2 TXIRBIEBE (RETEERRE ) :

- HREITENESEES MR, FTDI USB iEfesssk
HAhaTagEAE FTDUS AN A TR ( SEERRET:
BeagleBone. Raspberry. Arduino %) . 1R 2, B
WIFFEAD FTDNRE, (MRB— TR, AEEHAE
Biftee, BEBKHE, AMAMREIESR.

- BIERARBUNNFRTERIIME: SoEREE
BRI, AERBIEME, REE(TDJ Assistant 2,

x EfHA DJI N3 5§ A3 KiR R &, SHBEIREL B EEBIEE
S EE E 580 IESC B0, I7E ¢iRES RE R
FHRFTECIEEBIANEM: & HIRIERZE DJI Assistant 2 ->
N3 g A3 EItF -> Bl FH4% -> ESC ElffFI%E .

©2016 #

fr hRALRTE 21

HO



HO

7. B TIERSHR

12808 BaEBEAEENRIFRIREIIRE,

ALRRBERIA, SER(ERSTD

FBFRESBEERSERTSRTE 7 BRI TIPRS.

TIERSS 15T BRE | BB | mEnss RERROSAE
& GITFIRSS | 1356 E%E REwhss /
EETIE 9 FITES R /
o ETEE R /
Wi @HEE e aA RS . SEREA S
_ TEGNT || % | rremeiescs. BEGLIEE. BN | EEEEEEE
TR e -
ZERMR psh=
R @ TITHRIA RECEREE EEREREE
SR @ TR ; |Er | mmesssESss 00C EBIEPIRREEET 80T
_ EFE G AR YT EEE,
. 1TIIRE SH s # PWM {S845E N
HIES |6 ETER ) |mw | SOURPERIEX, DRBPWMESEE | oy merisssERss
BT, ERYIRESME] ol
PWM (5%
1 YT Em RS MR BIEL, BEBE | 1. YRR SRS
e | AR B--B- %) PWM {5 SL&AN0IRLIIFF 2. IR REIREE M), EE
SRS P E S e $iteth
® BN |BBB- |3 | CeREhEIIRERME SEI IR 1120 s LUF
BRI 125 {2 ER T/EEE
S BB | P R\ E
RERRRP BB-BB (XA miAF s22vaaT 432V BEMAE
R ERE /o |EE | EmEthmABEET 42 v FOEREE 432V DLE

* TS DJIN3 /A3 iz

HO



HO

8. MitgsH

RAHLS

jiizezshc)
HEREER
EFRRRIRE

=R

RASVFRE
RASVFRIR (554%)
RASVFIEERT (37))
PWM INESEF
TERKE
HREESIE

Bt

RY

EAS

8 (8%)
=

EFRT

KV &

E

SRHER

BHiE x 215

Ei (PR )

14 F55 /4 (44.4V, EF@E)
125 LiPo

45-7.0F5e /4 (i5FHE)
-10ZE 50T

522V
80 A

120 A

33V/5VHERE
1120 - 1920 us

30 - 500 Hz

128 LiPo

86 mm X 46 mm X 21 mm

=HEFEHE: 150 mm
EEiRL: 720 mm
ESLREIRE: 900 mm
189 g

100 % 10 mm
120 rpm/V
M10: 520 g, M10 Air: 420 g

711x203 mm (28 x8inch )
161g

24 © 2016 AFECIFT MRIRE



9. tERESH
HRIBL RS M A BRI N RS

A ENEHEFE CEET T, LRSREERE.
* EDBE §T, BCEREBIRAEFEN 1.2 EFR™
SRR R .

E5000 shH RS ERE

18 (gIW)
20

0 2 4 6 8 10 12 14 16
#14 (kglrotor)

LI EHERAMARE 44.4 V. EiR 26C. BFESENKET, THHITEA
VTSRS .

BA$IH (kglrotor)
15

0 40 a2 44 46 48 50 52 54
BARBEE (V)

LALESIEAZIR 25C . BFERENIMET, #iE), AHRARENS.

©2016 #

#OREURE 25

HO



HO

1(A) P(W) N(%) T (kglrotor)

70 3500 100
%0
60 3000 1
80
50 2500 79 =
10
40 2000 0
50 8
30 1500 40 .
30
20 1000 4
20
10 500
10 2
0 0

0
0 1000 1500 2000 2500 3000 3500 4000 4500
N (rpm)

I- BB, P-HIHINEE, n- BBXEE, T-403, N-#iE
LU EEIRISAMABE 4.4 V, ZE 25T, BFA=ENRET, THMHIE
NBTHEE.

M10/M10 Air EB4/L1%EAE
TR
n (%) 1A PW) T(N-m)
100 500 3000 35
%0 ~ 450
80 AN n 400 2500 0
70 350 5000 25
60 300 20
50 250 1500
40 200 15
30 150 1000 10
20 100 g0 .
10 50
0 0 0

o 1000 2000 3000 4000 5000 6000
N (rpm)
n-¥EE, -8R, P-EHINEE, T-HE, N- i
LUERIRIAMNSBIE 44.4 V BEIROIRIGE, (UiBE . =8 25T FEWNSH
HEERT, BIREY 70 AATRE TIEXEL, 40-70 A J95E8) (£910-30s)
TR, 40 A LU RRISETIFXIE . SCinERRT, SR T/ FRSRRETI
PRGBS TR .

IS

IREBH 120 rpm/V
REERNEEL 0.0796 V-sfrad
HUAS a2 288 ms

26 © 2016 K5=f

3 WA



M10: 302 kg-mm?

BT RS M10 Air: 208 kg-mm®
. B 2
#TOME (8% N0 A 3314 kg i
HIERE 0.0790 N-m/A
55220 41-50 pH
ZeraE 60 mQ
AR 600 s
" REBHAEHIHRIE RSB EBRRAN LSBT, UL MEEEEHRT

RSRTERRITINEE 1 kHz {9 RLC RRES-RIIS, EUEREMFUEEM I

10. ERE=A

julpESzEdyeES

1) A 2 PERITIZZ2 (M6 % 22, H17F ) | 4 TR TeiRee (M3 11,
Sh7NF ) RO 4 MBHER I R RAIRNER .

2) 1RSI LR ST IR P FIREE R o

3) LREERIMIZZL (M6 % 22, JNF ) BRI E B A B EEs:
SRIERSE 4 FRRFIZL (M3X 11, 45 ) FHTER.

(MBx22, #h7X;

A\ ¢ BRITRRL RESIITRRSHBLZET =2 TR

Eltt.
SRS TIREERHT T, BRAESE

HEWEERN, OASBITEH.

EEILUE DJI B MU EIRRHIRA (BFFM)
http://www.dji.com/e5000

- wiEE—a
Copyright © 2016 K3ZeIFT MIETE ¥E DI ARE

HO



Compliance Information
FCC Compliance

This device complies with Part 15 of the FCC Rules. Operation
is subject to the following two conditions: (1) This device may
not cause harmful interference, and (2) This device must accept
any interference received, including interference that may cause
undesired operation.

Any changes or modifications not expressly approved by the
party responsible for compliance could void the user’s authority
to operate the equipment.

EU Compliance Statement

SZ DJI TECHNOLOGY CO., LTD. hereby declares that this
device is in compliance with the essential requirements and
other relevant provisions of the EMC Directive.

A copy of the EU Declaration of Conformity is available online at
www.dji.com/euro-compliance

ce X

EU contact address: DJI GmbH, Industrie Strasse. 12, 97618,
Niederlauer, Germany



DJI Support
DJI ARz

www.dji.com/support



If you have any questions about this document, please

contact DJI by sending an email to DocSupport@dji.com.

MREXSEABEEARE IR, SEILATRF
HBFEEXFEA]): DocSupport@dji.com,

YC.BZ:500493.08

Printed in China
REENF



